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Unlversity of Jordan EE212 - Electrie Clrenits 11 First Exam ) y, 19/3/2017
Department of Electrienl Engineering Second Semester 2016-2017 Time: 1 Hour 15:00 - 16:00 pm

Questions 1 (5 points)

a) Find the RMS value for the lollowing voltage waveforms:
1) vi(t) = Ssin(wt) + 8cos(wt) V

2) The signal shown in the figure va(t). v

C, / b) Find the RMS value of a source V where +
V=V +V,,
¢) Find the real power absorbed by a load Z
= 44j5 Q that is connected in parallel with
a voltage source V =V +V,, 2
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Questions 2 (5 points)

AN A of " » 1 i f thc
Ihe cireuit shown below consists of four loads in a series-parallel connection, with cach o
loads defined as indicated. Find:

1) The overall complex power supplied by the source, Sy
b) The overall souree power factor, 21y
¢) The source phasor current, 1y,

d) "The phase and magnitude of the current that {lows in load 2
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Questions 3 (5 marks)

The circuit shown depicts a load with 0.8 lagging PF that absorbs 100 W, the load voltage Vi is 120
V and the source frequency is 60 Hz. It is required to correct the power factor of the load by adding
a capacitor of 10pF, Find: \, o4
a) ghe,PRof.tlﬁQurgqbﬁefore connecting the Is Rt
capacitor. , Al
) the new load PF after connecting the
capacitor.

. )/ the new source current after connecting the Vs

: ?
./ capacitor. & /_’,'f’/)
/ ) the losses in the line before and after the hh‘f _ 14_ .-

connecting the capacitor.
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Questions 4 (5 points)

The circuit drawn shows a balanced 3 phase Y source of 110 V phase to neutral voltage suppling a
balanced Y connected load of Zy = 6+j8 connected in parallel with Delta load with Za= 12 +j6.
Find: ' T,
a) the phase current in phase B of the Y load.
b) the phase current in phase CA in the Delta load.
) the total current in line A supplied by the source.

) the total power supplied to the load. l1o
) the combined load power factor. i
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